
$olving Qarqdrqtic Eqstqtiotls - Applicqtions!
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+ 1) A f laming arrow is f ired upward from the deck of a ship. The ' /n
/ r r  F lr rdrT1ing arrow hi ts the water.  The height h,  in meters,  of  the

arrow above the water t  sdconds after i t  is f i red can be
modeled by the quadrat ic funct ion h(t)  = -4.9t2 + 18t + S

4a) Determine the max height Of the arrOW. {- {o'^Pgrtu .tsr. 'oqu^^"&

tnl How long does i t  take the arrow to reach i ts max height?

Jc) When does the arrow hit  the water?
1O) now high is the deck of the ship above the water?
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2)Find two consecut ive whole numbers such that the surn of
their  salua! 'es is 265.
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3) The perimeter of a right triangle is
length of  the hypotenuse is 15'0 cm'
of the other two sides'
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Determine the length
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